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Y ARAY A

B RECKRICEIIREINIEHFEANILLD,

® 650km = | 650000 m

@ 13t200kg =| 13200 kg
@ 8km 650m = 8650 m
@ Ikg 500g = 1500 g
® 2005g=| 2 kg 5 g
® 2070kg =| 2 t 70 kg
@ 49000g = 49 kg
® 9km 100m = 9100 m
@ 10400g = | 10kg 400 g
(9 4000m = 4 km

@ 27kg = 27000 g

@ 960000kg = 960 t

/24

® 1890g = | | kg 890 g
@ 30000m = 30  km
® 100kg = | 100000 g
67t =| 67000 kg

@ 1890kg = | | t 890 kg
120kg = | 120000 g

| 5kg 200g = 15200 g
@ 140000m = 140 km
@ 7980kg = | 7 t 980 kg
@ 1060g = | kg 60 g
@ 18kg =| 18000 g

@ 1800m=| | km 800 m




